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SECONp EXAMINATION IN SCIENCE - 200712008

FIRST SEMESTER(Dec./Jan.,2008/2009)
MT 215 - CLASSICAL MECHANICS II

(PROPER & REPEAT)

Answer all Questions Time: One hour

Q1. (a) Using the stanclard equatio[s (without proof) fbr the equilibrium at any point

on a perfectly llexible string, sho$,that

s : c tan dr,

wirere thc notations s, c and { are defined as itl Lhe usua] way.

(b) A rough rigicl wire is in the tbrm of catenary with paraneter c. It is fixed ir
a vertical plane with its direct x irr horizontal and vertex above. A unitbrm

heavy chain of length I is in liniting equilibrium with one cnd at the vertex o[

the wire. If 12 F c2 : j, prove that

Q2. (a) Staie Bernoulli-Euler law of flexure of an elastic beam ancl use it to show

that

v:urrt!
where M is the bending moitent at any point of lhe beam givcn by the equiitio[

9 = 9(z) and -o and I are the Young modlrlus ancl momenL of inertia of the

beam aboulr the ccntral line, respectively.
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(b) A uniform beam ,4.B of length 2l and weight ?,

horlzo0tatty aL,2l. A weight I/ is suspended hom

atBis
o/9:\t4W _ 3lt,)..38'

where B is the flexural rigidiry.


